IMPORTANT: PLEASE KEEP THIS INSTRUCTION MANUAL FOR FUTURE REFERENCE !

Copyright © 2012 by E&G Classics, Inc. All right reserved. The reproduction or utilization of this work in any form or any electronic, mechanical, or other means, no known or hereafter invented,
including xerography, photocopying, and recording, and in any information storage retrieval system is forbidden without written permission of owners.

2007-12 GMC Sierra E-Power Mesh Grille

Upper Overlay

Black Mesh Part #: Complete 1091-0104-EP / Chrome Mesh Part #1091-0104-EPC

Automotive grade masking tape, electric drill, 5/16” and 1/16” drill bits, razor blade or X-Acto knife, flat
TOOLS REQUIRED blade screwdriver, 9mm socket and ratchet, solvent, glass cleaner and soft, clean cloths.

01/27/2012

Notes to the Technician/Installer:
E&G is proud to present this package to you and reminds you that for technical information, contact technical assistance at 410-381-4900. Do not attempt the installation
of any E&G product without first reading the detailed instructions. E&G Classics will not warrant damaged parts or the vehicle due to altered installation instructions.

1. Open the hood and use a flat blade screwdriver to remove the
factory push pins securing the top of the factory grille center
section to the radiator support panel.

2. Apply masking tape to the painted or chromed opening of the
factory grille and around the “GMC"” emblem as shown.

3

Lo

S

3. Align the mesh section onto the back of the E-Power surround.
Trim the ends from the supplied #8 x 1-1/4" black cap plugs and
the #8 x 3/4” black cap plugs and install them over all mounting
studs up so that only 3/8” of threads are exposed.

4. Carefully align the grille assembly into place and use wide mask-

ing tape to hold the grille in place during the hardware installa-
tion.

< ADE
.AM»EMCA Copyright 2012 by E&G Classics, Inc.

EXPERT QUALITY CRAFTSHANSHII

Visit us online today at www.egclassics.com



5. Install the lower u-shaped grille retainers across the bottom of the
grille using the supplied #8-32 ESNA half nuts. To install the center
bracket, you must break off the small mounting tab {not shown).

6. Install the upper outer grille retainers using the supplied #8-32
ESNA half nuts (as shown).

7. Use the u-shaped grille retainers on the center upper mounting
studs. Due to their location, it will be necessary to use a 9mm
wrench to tighten the #8-32 ESNA half nut. Tighten only until the
studs are flush with the back of the ESNA nut.

8. Align the GMC emblem surround in place and press firmly enough
to indent the stud location on the factory grille center bar. Use a
1/4” drill bit to drill through the marks made {not shown).

L L]

% 8

S —

9. Realign the emblem surround and install the supplied small back
plastic washers and the #8-32 ESNA half nuts and tighten to se -
cure the emblem surround.

10. Align the factory radiator support panel back into place and install
the plastic push pins and close the hood to finish the installation.

Copyright 2011 by E&G Classics, Inc.

Visit us online today at www.egclassics.com



E-Power Black Mesh Part #1091-0104-07EP } E-Power Chrome Mesh Part #1091-0104-07EPC

Quantity: | Description: Part Number: Quantity: | Description: Part Number:
1 E-Power Black Mesh Surround il 1 E-Power Black Mesh Surround il

1 E-Power Black Mesh Section 1091-0040-07B 1 E-Power Black Mesh Section 1091-0040-07

1 E-Power Black Logo Surround 1091-0035-07B 1 E-Power Black Logo Surround 1091-0035-07B
1 Installation Hardware Kit 1091-1902-07EP 1 Installation Hardware Kit 1091-1902-07EP
7 U-Shaped Grille Retainers 1999-0719-00 7 U-Shaped Grille Retainers 1999-0719-00

2 Upper Mounting Brackets 1091-0158-07 2 Upper Mounting Brackets 1091-0158-07
1 #8-32 ESNA Half Nuts 1999-0065-00 1 #8-32 ESNA Half Nuts 1999-0065-00

2 Small Black Plastic Washers 1999-0256-00 2 Small Black Plastic Washers 1999-0256-00

9 #8 x 1-1/4” Black Cap Plugs 1999-0311-00 9 #8 x 1-1/4” Black Cap Plugs 1999-0311-00

9 #8 x 3/4” Black Cap Plugs 1999-0119-00 9 #8 x 3/4” Black Cap Plugs 1999-0119-00

MADE IN

E&G Classics Warranty Information:

E&G Classics, Inc. warrants its chrome parts and products to be free from defects in ma-
terial, workmanship or finish for Thirty-Six (36) months from the date of shipment by E&G.
This warranty is limited to the repair or replacement, at E&G Classics option, of the defec-
tive part or product.Full E&G Classics warranty information is available online @
www.egclassics.com. Just click on the product warranty icon.

For E&G Classic Product Returns:

Please contact the authorized E&G Classics Dealer where you purchased our prod-
uct from in regards to any workmanship or warranty claims. All items returned to
E&G Classics must have a return authorization number issued by us for inspection
or a defective product and or warranty issue. All merchandise sent back to E&G
Classics without proper paperwork or authorization will be rejected and returned.




